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QID : 1 - In the following question, select the related word pair from the given alternatives.

fefafEa vy 8§ Ry g faeredt & @ wefda g 3@ &t gl

deflieq i :7:?
Options:

1) Skating : Rink
he : Rem

2) Chess : Ground

MRS

3) Swimming : Grass

GECIBGIE

4) Polo : Sky
 SATehIST

Correct Answer: Skating : Rink

whfer: R

QID : 2 - In the following question, select the related word from the given alternatives.
Teacher : School : : Artist : ?
frfafea mer & Ry g et & & ¥6fia et &t gfgl

foreren : frene ; : PR : ?
Options:

1) Theatre

e

2) Cards
IRy

3) Pen
helH

4) Acting
CIRep)

Correct Answer: Theatre

QID : 3 - In the following question, select the related word from the given alternatives.
Pentagon : Figure : : Truck : ?

feafafEa vy 8 Ry 7y et & @ H6fia 2reg &t gl

ST : TR gah : ?
Options:

1) Heavy

AR

2) Vehicle
CIGE]
3) Engine
o
4) Goods
L)

Correct Answer: Vehicle
arg


http://thepracticetest.in/cs_sscje_18/logout.php?appid=1368062d74107fc05177712c90c3885c

QID : 4 - In the following question, select the related letters from the given alternatives.
RATS : XGZY : : RIPE: ?
fafafEa usy § Ry g faeredt § € defda sreri st gihgl

RATS : XGZY : : RIPE : ?
Options:
1) KVMA
2) XPUL
3) XOVK
4) XNVG

Correct Answer: XOVK

QID : 5 - In the following question, select the related letters from the given alternatives.
FEAR: PCCH::VANS :?

FfafEa w8 Ry g foedt & @ &fa siert gm &l gml

FEAR: PCCH : : VANS : ?

Options:

1) QPYX

2) SHPX

3) PXYB
4) QSZA

Correct Answer: QPYX

QID : 6 - In the following question, select the related letters from the given alternatives.
LAMP : PXQM :: COKE : ?

et vy A Ry g faeredt & @ Tefla sreri & gfgl

LAMP : PXQM :: COKE : ?

Options:

1) GMQA

2) GLAT

3) GLOB

4) GNPC

Correct Answer: GLOB

QID : 7 - In the following question, select the related number from the given alternatives.
43:7::61:?

frafafea v & Ry 1y foedt & § wefda g &t gfg

43:7::61:?

Options:

1 6

2) 7

3)9

4) 8

Correct Answer: 7

QID : 8 - In the following question, select the related number from the given alternatives.
24:164::32:?

frafafea ue & Ry 1y foedt & § wefda g &t gfg

24:164::32:?

Options:

1) 212

2) 194

3) 132

4) 186



Correct Answer: 212

QID : 9 - In the following question, select the related number pair from the given alternatives.

Options:
1) 95:45

2) 46:28
3) 37:18
4) 19:10

Correct Answer: 95 : 45

QID : 10 - In the following question, select the odd word from the given alternatives.

frfafea v & Ry mg e & § v s & gfg)

Options:
1) Forest
a1

2) Tiger
Ele)

3) Lion
[BH

4) Elephant

geft

Correct Answer: Forest
T

QID : 11 - In the following question, select the odd word from the given alternatives.

frafafea vy 8 Ry 7y et & @ v ez &t gfg)

Options:
1) School
e

2) Worker
AR

3) Driver
Telch

4) Waiter
Er

Correct Answer: School

QID : 12 - In the following question, select the odd word from the given alternatives.

frafafed wer A Ry g foeredt # & v arez &6t gfg

Options:
1) Write
foran

2) Read

g&T

3) Listen

g

4) Colour

[

Correct Answer: Colour
{1

QID : 13 - In the following question, select the odd letters from the given alternatives.

FfafEa uy Ry 71g foeredt § 9 faww sreri et gig)
Options:

1) CHM

2) JOS

3) SXC

4) VAF

Correct Answer: JOS



QID : 14 - In the following question, select the odd letters from the given alternatives.

et v F Ry g et & @ fawm srert o0t gfgl
Options:

1) KQW

2) BHN

3) RXF

4) DJP

Correct Answer: RXF

QID : 15 - In the following question, select the odd letters from the given alternatives.

Frfafed o & Ry mq feredt & & fwm srert ol gfg)
Options:

1) FBX

2) PLH

3) VRN

4) GCZ

Correct Answer: GCZ

QID : 16 - In the following question, select the odd number from the given alternatives.

fafafea vy § Ry 7 et & @ s S @0t gl
Options:

1) 17-289

2) 26-676

3) 27-729

4) 14170

Correct Answer: 14-170

QID : 17 - In the following question, select the odd number pair from the given alternatives.

frafafea ue & Ry 1y e & § fwm dw@n gw &t gkl
Options:

1) 13-16

2) 19-22

3) 21-24

4) 33-38

Correct Answer: 33 — 38

QID : 18 - In the following question, select the odd number pair from the given alternatives.

ffafEa w8 Ry 7g faeredt 7 & foww S g &t gl
Options:

1) 14-21

2) 19-285

3) 17-255

4) 36 - 46

Correct Answer: 36 — 46

QID : 19 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Loathe
2. Living
3. Locate
4. Local
5. Literate

frfafad el &t areaentsr & 11 arel o & SIgER ford|

1. Loathe
2. Living
3. Locate
4. Local
5. Literate

Options:
1) 52143
2) 52134
3) 51234

4) 51243

Correct Answer: 52143



QID : 20 - According to dictionary, which of the following word will come at FIRST position?
1. Narrate

2. Narrow

3. Naked

4. Naive

5. Nasty

TSI & FTER, ARG & & i A7 2168 Uget T W SR?

1. Narrate
2. Narrow
3. Naked
4. Naive
5. Nasty

Options:
1) Naked
2) Naive
3) Narrate
4) Narrow

Correct Answer: Naive

QID : 21 - From the given alternatives, according to dictionary, which word will come at SECOND position?

g 7Tq faehedt & 8, ATeaahiST & SR, S T ATea FER W TR SR?

Options:
1) Prodigy

2) Proceed
3) Product

4) Producer

Correct Answer: Prodigy

QID : 22 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
RIF, KBY, DUR, WNK, ?

e S1ehH foar ma 8, Orew § e Ue g 81 Ry Ty faenedl # © a8 98t fadhed g, St srged ot g el

RIF, KBY, DUR, WNK, ?

Options:

1) LFD

2) PGD

3) PNC

4) NGB

Correct Answer: PGD

QID : 23 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
PV, UA, ZF, ?, JP

e S1ehH foar T 8, Ores § e e g 81 Ry Ty fenedl # © a8 w8t fadhed g, St srgeRd ot g el

PV, UA, ZF, 2, JP

Options:

1) EK

2) DL

3) EJ

4) DK

Correct Answer: EK

QID : 24 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
FJ,0,8,72,B,G

e STehH foar ma 8, FOres § e Ue g 81 Ry g faenedl § © a8 @8t fadhed g, Sit srged ot g el

FJ,0,8,7,B,6



Options:
1Y

2) X
3)z
4 C

Correct Answer: X

QID : 25 - In the following question, select the missing number from the given series.
14, 16, 30, 45, 62,132, ?,?

feafafEa vy 8 Ry 7 et & @ g ofe 31a i

14, 16, 30, 45, 62,132, ?,?

Options:

1) 124,396

2) 126,393

3) 82,243

4) 106, 343

Correct Answer: 126, 393

QID : 26 - In the following question, select the missing number from the given series.
6, 25, 62, 123, ?, 341

feafafEa vy 8 Ry 7 et & @ g ofe 31a i

6,25, 62, 123, ?, 341

Options:

1) 194

2) 156

3) 214

4) 278

Correct Answer: 214

QID : 27 - In the following question, select the missing number from the given series.
53,19,72,91, 7,254

Feafafea vy § Ry 7 et & @ g ofe 31a i

53,19,72, 91,2, 254

Options:

1) 149

2) 163

3) 123

4) 213

Correct Answer: 163

QID : 28 - In a certain city there are five towers. Tower Ill is taller than tower II. Height of Tower V is the average of the height of towers | and IV. Height of Tower Il is
the average of the height of towers | and Ill. Height of Tower | is the average of the height of towers Il and V. Which tower is the shortest?

foret R B g @R 1 TR NI, TreR || § Fam &1 araR V Y T8 eeR | 3R @R 1V i ams ot S &1 @R || Y $ams erer | 3R @TaR 11| it Sams ot ofd &1 eraR | Y s e ||
3R TR V I FaTE 1 3T &1 TQ HH HTS ITeAT 2TaR i T 82

Options:
1) IV

Correct Answer: |V



QID : 29 - X said to Y that my sister's father-in-law is your husband's father. How are X and Y related?

XY & el foh A8 o187 & TR grerR ufa & far &1 X o Y g gerk € & Teifdag &2

Options:

1) Y is wife of X's sister's husband's brother
Y, X Y s & ufey & s Y uett &

2) Y is sister of X's sister's husband

Y, XA agAhufd Al aga g

3) Xis husband of Y's husband's sister

X, Y & ufd &t ag s ufa &

4) X is wife of Y's husband's brother

X, Y & ufd & g i uett @

Correct Answer: Y is wife of X's sister's husband's brother

Y, X Y 9§ & Uil & TS ol Ol &

QID : 30 - From the given alternative words select the word which cannot be formed using the letters of the given word.
VOCABULARY

frfafed et & & ag 2rea gMAg St g 7Y 2rea & S1eRT a1 TRINT ek g1 ST S TehdT:

VOCABULARY

Options:

1) vocal

2) ulcer

3) labor

4) burly

Correct Answer: ulcer

QID : 31 - If OBSCURE is coded as NARBTQD, then how will THY be coded as?

afe OBSCURE & i€ # NARBTQD forar Sirar & df THY &t e & & forar Sirgem?

Options:
1) GSB

2) VJA
3) SGX

4) uiz

Correct Answer: SGX

QID : 32 - In a certain code language, 1259 means 'box in the ring', 6941 means 'the square boxing ring' and 5713 means 'put the box out'. Find the code for 'ring'.

forelt fAffa srte oo & 1259 a1 a1ef & 'box in the ring’, 6941 @1 312 & 'the square boxing ring' 3k 5713 & 312f € 'put the box out'l 'ring' & foIg st T R

Options:
1)1

2) 9
3) 2
4) 5
Correct Answer: 9

QID : 33 - In a certain code language, '+' represents -, - represents 'x', 'x' represents '+' and '+' represents '+'. Find out the answer to the following question.
160x40+20+10-2=7?
Rl fAfd opte T & '+, - ol UfRfa a1 §, ', 'X' Y TafFd heaT 8, 'x, '+ Y Tafid aheal § 9k '+, '+ &l Uafid axar &1 fmfeifea st &1 Sor A ae?

160x40+20+10-2="?
Options:

1) 328

2) 85

3) 52

4) 4

Correct Answer: 4

QID:34-1f 50 % 15 =70 and 23 % 20 = 6 then find the value of 10 % 4 =?

afE 50 % 15 =70 3R 23 % 20 = 6 T 10 % 4 = ? &1 T AT H?



Options:

1) 6

2) 14

3) 12

4) 7

Correct Answer: 12

QID : 35 - If A* B means A is mother of B, A + B means A is sister of B and If A % B means A is daughter of B, then what does C + D % E * F mean?

TREA*BAT NI EfFABH A A+BHRISGAGIHA B TET2iRARA%BATTIEHABHR TN EAC + D % E * F e aref 82
Options:

1) Cis daughter of F

CFaHI gt g

2) Cis mother's sister of F
CFHimifsgig

3) Cis sisterof F

C, F &Y 9871 g is mother's mother of F
C FHmidraig

Correct Answer: C is sister of F
CFHsgig

QID : 36 -

Select the missing number from the given responses

fer et # & o e gAY

Options:
1) 2

2) 10
3) 7
a4 1

Correct Answer: 10

QID : 37 - Which of the following terms follows the trend of the given list?
OXXXXX, XXXXXO, XXXXO0X, XXXOXX, XXOXXX,
frafafea & 9 i a1 ue & el gt & o & gEr 87

OXXXXX, XXXXXO0, XXXXO0X, XXXOXX, XXOXXX,
Options:

1) XXXXXO

2) XXXXOX

3) XXXOXX

4) XOXXXX

Correct Answer: XOXXXX
QID : 38 - A bird starts from its nest and flies 3 km North, the turns West and flies 4 km, then turns South and flies 11 km, then turns to its left and flies 4 km. Where is

it now with respect to its nest?

e geft 3T Biae T IS IR AT § SR ITR i 37 3 fahediHieR Ta ST &1 o ag ufgm Y oik 4 fareiitier ah It &1 3T a1 ag afeior 6t 3k gear & ofk 11 fheier a&
IEdT & TUT ITh TG Ig AT TR TS 4 foheliHiex deh ISaT & | Tieet I o1e Iqeh fafy o &2


Nitin Saini
Rectangle


Options:
1) 8 km North
8 foremfier IR

2) 8 km South

8 forerieiex gferor
3) 14 km South
14 gfaror
4) 14 km North
14 frehfier IR

Correct Answer: 8 km South
8

QID : 39 - Two cars start from the same point on a highway. Car X travels North 25 km and then turns right and travels 14 km. In the meanwhile car Y travels 19 km
South, then 3 km West, then 4 km South , then it turns left and travels 17 km. Where is car Y with respect to car X?

Rl ET8a TR & SR Qeh 1Y TT URY ! § 1 R X, 25 foheliHier IR i 3R Teieht § 7R fthe a8 3R g 14 foheliHiex Iareht 81 It T &R Y, 19 foetiiex gfayor & ok Tt
2 R fOR 3 foreiivier uffe e 4 freiviier afaror &t ok Tercht & ofk 35 a8 a8 SiR e 17 fAeiieR Tacll §1 R X & e # dR Y &gl 87
Options:

1) 48 km North

48 fpeirier xR

2) 10 km South

10 fereifieR afgror

3) 48 km South

48 forettfiex &faior

4) 10 km North

10 foreifier IR

Correct Answer: 48 km South
48

QID : 40 - In the question two statements are given, followed by two conclusions, | and . You have to consider the statements to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: No lemon is sour
Statement II: All sour is yellow

Conclusion I: Some yellow is lemon
Conclusion II: All lemon is yellow

st B &) sy R 13 g fOadh ot &t fAsed | 3fR 1| fReprat & €1 31rueRt 71T € o6 2 She o § 9T a8 IrTaa: F1d aal § {9 i gia gf1 smuent fAutg @ g &Y Ry g
freene! & @ s-a1/a-8 RfYT 0 @ Su gR1 e FenTe ST ehdr &/dd €, afe s g

HYA |: IS g @eT el &
Y |1: goft g e @

forsenf I: o dherr g 2

fored II: it g et &

Options:

1) Only conclusion | follows

et fery | T8t &

2) Only conclusion Il follows
Ry || wEt &

3) Both conclusions | and Il follow

gl e | ok 11 TEt &

4) Neither conclusion | nor conclusion Il follows

7 at frreenef | Tt & 1 €1 fsene |1

Correct Answer: Neither conclusion | nor conclusion Il follows

7 at frreenef | Tt & 1 €1 fsene |1



QID : 41 - In the question three statements are given, followed by three conclusions, |, Il and Ill. You have to consider the statements to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: All lakes are pools
Statement II: No tanks are pools
Statement lll: Some seas are lakes

Conclusion I: Some seas are pools
Conclusion II: Some tanks are lakes
Conclusion llI: No lakes are tanks

uy § &9 pye R T € Oreh omt i fFAsend |, 11 3R 111 et M &1 siuent | € 13 i e I € 918 a8 amETd: I a2t § 9 udta gia gt simuent Aot e & i e
sl & @ epl-a1/a-8 RS U @ Su gR1 e Fentell ST ehdT &/dehd €, afe s gl

&y | ooft 3l g
U II: S Tk gt el &
&Y lII: T T 3 &

A | ge T qa 6

e 11 oo T il &

Frseef 1: 6 3fter T 181 @
Options:

1) Only conclusions | and Il follow
Fhad feny | ofR || T8t 8

2) Only conclusions Il and IlI follow

hadt fase || iR 11l Tt &

3) Only conclusions | and Ill follow

Sheet feent | R 11l TET &
4) All conclusions |, Il and IlI follow

= s |, 1 SR 11 T &

Correct Answer: Only conclusions | and lll follow

e e | SR 11 w8 &
QID:42-
Which of the following cube in the answer

figure cannot be made based on the unfolded
cube in the question figure?

frreTferRae TR aTTpfa § & i |1 o U T oy
3TTPfT = ot B I T T&| oI ADT?

[]
IR O E::
w5




Options:
1

N

& & &

w

)

Correct Answer:

v

QID :43-

Which of the following answer figure patterns
can be combined to make the question figure?

Prferad oo anghr 3 & i & wRrwat et
SIS U T T STPIeT I ST ST Hepell &7




Options:
1

2)

3)

e

C0|Tréct Ar)slwer:

QID: 44 -

In the following figure, square represents Runners,
triangle represents Scientists, circle represents Indians
and rectangle represents Mothers. Which set of letters
represents Indians who are runners?

fraferRae forr 3 o, emaet ot waf¥fer awea 2, By,
demfept @1 wefii e 8, g, YRR Bt 3R e 73
T waffc BT 81 SHaRT BT B AT T8 I AT P
v fi e & ST e 22

Options:
1) CEB

2) HFE
3) HF
4) 16

Correct Answer: HF

QID :45-

Which of the following Venn diagrams represents the
relationship between Elephants, Giraffes and
Herbivores ?

fre=foea & & & a1 39 g =ifte), Orre sk



Options:
1

2)

©

3)

4)

@)

Correct Answer:

QID: 46-

Which answer figure will complete the pattern in the
question figure?

frrferRad & & Bi-f ST S1Thr wy Smmpfer & ufiey
I g Puf?

N




Options:
1

<

N

2)

7
_/

3)

2\
I

4)

/)

Correct Answer:

2\
1

QID: 47 -

From the given answer figures, select the one in which
the question figure is hidden/fembedded.

< Tt TR enapfodt F | 9 st Y iR o wy
st fAfed 21




Options:
1

2)

3)

4)

Correct Answer:

QID : 48 -

A piece of paper is folded and punched as
shown below in the question figures. From the
given answer figures, indicate how it will appear
when opened.

% STRpIT ¥ fERATY SR BT BT AR I
BT P AT T & I1E I8 b IR MMepfer ST
ferarg <m?




Options:
1)

o 9
o O

OO~

2

[s] ]

o0
OO0~

Q0

3)

Q0

00 /]

L/ 00 ]

(e]e]

4

Correct Answer:

L/ 00 ]

o O
o O

N 00 /]

QID : 49 -

If a mirror is placed on the line MN, then which of the
answer figures is the right image of the given figure?

I @ g A MN W W@ AU A R
Waodl # § Fla-d FE AT A ;T Acrera g

Rl
© /|,




Options:

1)

©

2

Y
O

3)

4)

Correct Answer:

¥
\_ O




QID : 50 -

Aword is represented by only one set of numbers as given in any one of the
alternatives. The sets of numbers given in the alternatives are represented
by two classes of alphabets as shown in the given two matrices. The
columns and rows of Matrix-1 are numbered from 0 to 4 and that of Matrix-1|
are numbered from 5 to 9. A letter from these matrices can be represented
first by its row and next by its column, for example 'J' can be represented by
34, 20 etc and 'Q)’ can be representad by 78, 97 stc. Similarly, you have to
identify the set for the waord 'INKY'.

TR 916% el e We-TAE a1 ST T E, S f faement ¥ fdt o A
ez e &1 fameat & g T we-AE et & &t anf gy sy o E, e

R e 2T SmegEl & &1 MR- | 3w S Ufeh &1 HET 0 ¥ 4 3 TegE-N A 5
¥ 0 21 57 IRl ¥ g TA DY Tae It Uit Al aTe 3 sy W s s
T e 1 SRR & 1T U @t 34, 20 2nfe gy gifar @ weedT & qer Q@
78, 97 ST GINT ST AT T §1 T TE W DT e A B 9o INKY' &
ferq weE @1 gear 2

Matrix | HTEE Matrix i WA

o 1 R 4 5 & 7 3 9

0 F C K M C 5 ¥ B ] N w

1 H A [4 A B [ [ kS o |z | z

2 ] F K G B 7 [ v ¥ Q ¥

3 ) B I F [ g R [5] u Q 5]

4 E F B H B E] w [ a T %

Options:

1) 32,58,02,75
2) 34,8598,10
3) 43,89,04,55

4) 11,67,03,65
Correct Answer: 32,58,02,75

QID : 51 - In a period of inflation and price rise the supply of money

TEreRfa ofie il & g oY oraf & e St ol A el
Options:
1) increases

2) decreases

3) remains the same
ek A
4) increases or decreases proportionately

gaUTS ®U § gfg ar et

Correct Answer: increases

QID : 52 - Who among the following is related with 'Labour Theory of Property'?

fFffEa 7 @ o Tuf & om Rgra @ g=fRa 82
Options:

1) Adam Smith

Ter o1y

2) John Locke

S Ak

3) J.S. Mill

S.og. e

4) J. J. Rousseau

SIS w4r

Correct Answer: John Locke
SIEkGIET

QID : 53 - Which is India’s first "Global Telecom City" in the following?
ffafea # R 1 uge "o o & @i a1 8?



Options:
1) Hyderabad
TS

2) Noida
3) Kolkata
ShIcAhIdT

4) Bengaluru

Correct Answer: Bengaluru

QID : 54 - According to World Bank what was the approximate land utilization percentage of India for agriculture purposes?

sy ¥ & STIR HY YA & fIg R a1 AT Jff IuahT ufaerd ayf 2015 & et e a2
Options:

1) 50%

2) 60%

3) 70%

4) 45%

Correct Answer: 60%

QID : 55 - Which among the following was used as the motto for Census of India 2011?

IR FI STUMA-2011 & oy FR=fefaa & § sia-ar smeef arag Iumhr fohar mar a1?

Options:

1) Our Country, Our Family

37ER g, 3TaR Thifet

2) Our Duty, Our Census

IR S, SR J9H

3) Our Census, Our Future

SR YO, AR IR

4) Our Country, Our Census

3feR Tl IR IO

Correct Answer: Our Census, Our Future

SR G, IR TR

QID : 56 - Which of the following is not a feature of good governance?

ffafEa 3 8 o gmae & faghvar 78t 82

Options:
1) Accountability

2) Transparency
R
3) Red Tapism
ret ranmmet
4) Rule of Law
A &l |
Correct Answer: Red Tapism

BISRACIEIF]

QID : 57 - Who rejected the "Principles of Administration as myths and proverbs"?

"frreRt 3R gTadl & T F UMTH & Rigral” ol foham srefiR fohar 82
Options:
1) FW. Riggs
. g5 R
2) Dwight Waldo
aTse arest
3) Herbert Simon
SIELE]
4) Frank Marini
then AR

Correct Answer: Herbert Simon
EECRIECE]

QID : 58 - Which of the following is related to the Second Schedule of Indian Constitution?

ARSI Y T ST T T 578 § foherd 82



Options:
1) Representation in the Rajya Sabha

I T H
2) Language
HTST
3) Oath taking
/I Jgur
4) Salaries of important officials
[ T I
Correct Answer: Salaries of important officials
Enj

QID : 59 - The concept of single citizenship in the Indian Constitution is inspired by which country?

IRt e & gehet ANTReAT Y sraemon fhe 3 9 aRa &2

Options:
1) Germany

2) France
g

3) Ireland
IRRAS

4) England
s

Correct Answer: England

QID : 60 - The authoritative text of the Indian Constitution in Hindi was authorized to be published which of the following constitutional amendments?

IRt d@fdam & midea =< urs @t Feafafea dfaum et 5 § forad gy s & forg sifea fovar mar?
Options:

1) 57“‘ Amendment, 1987

57-at genter, 1987

2) SSth Amendment, 1987

58-at Genter, 1987

3) 59“‘ Amendment, 1988

59-at emter, 1988

4) 6ch Amendmend, 1988

60-af Tne, 1988

Correct Answer: 58" Amendment, 1987
58-af Tzme, 1987

QID : 61 - The Chalukya ruler Pulakesin's victory over Harshavardhana was in year

AT ATk Geach T Y g¥aeh wR faerg &t af o
Options:

1) 612 AD.

612 it

2) 618 A.D.

618 gt

3) 622 A.D.

622 =it

4) 634 AD.

634 g&ft

Correct Answer: 618 A.D.
618 gt

QID : 62 - Which of the following Sufi order was the most orthodox?

frafafea & & w-a1 g duer gaifee sfeardt ar?

Options:
1) Chishti
Rt

2) Qadiri
I

3) Sarwari Qadri
TR prfey

4) Nagshbandi
RERICEA]

Correct Answer: Nagshbandi
TeFRTEET


Nitin Saini
Rectangle


QID : 63 - For which of the following rulers 'Ekabrahmana’ has been used?

Prforfa e 3 @ Rk g TehT STEIT SR §oN 82

Options:
1) Kharavela

2) Susharman

g

3) Pushyamitra Sung
RAIRERS

4) Gautamiputra Shatkarni
T raeuft

Correct Answer: Gautamiputra Shatkarni
Rccauif

QID : 64 - Who was the first person to be selected for "Individual Satyagraha" during the Indian Independence Movement?

AR WA SHTalel & TR "aAfhiTd Teamrg' & forg g7 7g uem aafh &b 42
Options:

1) Deshbandhu Chittaranjan Das

23y et e

2) Sardar Vallabhai Patel

TRER TS geet

3) Dr. Rajendra Prasad

ST, R

4) Acharya Vinoba Bhave

STar fatem wra

Correct Answer: Acharya Vinoba Bhave

QID : 65 - Mountbatten Plan (June 1947) provided for a referendum in which of the following province?

ARSI W (S 1947) 7 Fefaf@a & @ forg uia & s d@ug uer fomar ar?
Options:

1) Sindh

e

2) Punjab

Eic

3) Baluchistan

4) North-West Frontier Province

IR-uff D= wid

Correct Answer: North-West Frontier Province

IR-uffe D= wid

QID : 66 - Which of the following is not an example of a metamorphic rock?

ffifEa & at-a1 SUidiRa agH &1 IeT8R0T I8l 82

Options:
1) Gneiss
=

2) Phyllite
el
3) Schist
e

4) Granite
DEIErS

Correct Answer: Granite

QID : 67 - Stratellite is the

Qeemge_____ gargl

Options:

1) Uppermost band of stratosphere

TFAAIHSH T T FU I8

2) Lowermost band of stratosphere

HATIHES 1 Tad faen g

3) High altitude airship positioned in the stratosphere
3 IS W THAIHSA § wifid argutd

4) Natural satellite of Jupiter

Jeafd T UThideh IUUE

Correct Answer: High altitude airship positioned in the stratosphere

31fden FaTs W gHATIHSA & Wi arguid




QID : 68 - Mount St. Helens is an active stratovolcano located in which of the following countries?

feha el SaramE! udd Je gay Ffafed & @ fra dur d fa @2
Options:

1) Japan

SIa=

2) United States of America

Tgh T59

3) Chile

freft

4) ltaly
geett

Correct Answer: United States of America

h 5 SHRET
QID : 69 - In which Indian state is the Nanda Devi peak located?

et &t 9 WRa & fohg = A R 87

Options:
1) Sikkim
afaenn

2) Himachal Pradesh
faTae wer

3) Jammu and Kashmir
SR e R

4) Uttarakhand

IRETS

Correct Answer: Uttarakhand
IRETS

QID : 70 - India shares longest international boundary with which country?

frafafea 3§ fra 31 & 9y R Taifde awft sfa=fsia S aren eear &2

Options:
1) Pakistan
uTfREaT

2) Bangladesh
TretTeRr

3) Nepal
U

4) China
Eis]

Correct Answer: Bangladesh

AT

QID : 71 - Which of the following states became the first to shift to January to December financial year?

o o Set @ iR uRafda &= arern ugH g &iF s 87
Options:

1) West Bengal

i et

2) Uttar Pradesh

IR U

3) Madhya Pradesh

Y U

4) Himachal Pradesh

fermaer e

Correct Answer: Madhya Pradesh
e Ue

QID : 72 - What is the name of satellite that was carried on-board PSLV-C40 rocket in ISRO's historic 100t satellite launch on 12 January 2018?

12 SFast 2018 @t 383 & AfgTRies 100-2ff Iuwrg wetuor & digauedt-&t 40 e gRT vafid Yoy st Iuug &1 - T 82
Options:

1) Cartosat-2C

HIede-2C

2) Cartosat-2D

FIeEe-2D

3) Cartosat-2E

Ferde-2E

4) prefde-2F

Cartosat-2F

Correct Answer: @reide-2F
Cartosat-2F



QID : 73 - The 'Malabar' is a naval exercise between which of the following countries?

AR frfafEa 7 @ foh 2 & g o1 gep A8 S 82

Options:

1) India and China

IRa R HfF

2) India, Japan and USA

R, SITU 3R JgEY

3) India, South Korea and Japan
o1Rd, &f&or shifar ik s

4) India, Bangladesh and Sri Lanka
R, AT 3R sfteiant

Correct Answer: India, Japan and USA
R, SITU 3R Jgy

QID : 74 - Whom did Rafael Nadal defeated to win the US Open 2017 Men's Singles title?

el TSTS A fhE §R1eRR G, Q9. ST+ 2017 1 I3V Yehdd [T STiar?
Options:

1) Kevin Anderson

hig Jea

2) Roger Federer

IR he®

3) Stan Wawrinka
R graien
4) Horia Tecau

Correct Answer: Kevin Anderson
hioe dezae

QID : 75 - Whom did Pankaj Advani defeat to win the Asian Billiards Championship title in year 2017?

Hepat areaToft & a 2017 # ford g gfe fafera<y Sffmafy 1 f&are sfiar?

Options:
1) Aditya Mehta
anfee Agar

2) Manan Chandra
HAT =1

3) Subhash Agarwal
GTY SRSt

4) Sourav Kothari
TRY FISRY

Correct Answer: Sourav Kothari

dRa siert

QID : 76 - “India : The Future Is Now” is written by .

fear . s R AR gRifoli g @)

Options:
1) Kapil Sibal
Hite RQae

2) Arun Jaitely
Bty geracil

3) Rajnath Singh
EEICARTS

4) Shashi Tharoor
NIRRT

Correct Answer: Shashi Tharoor
MRt

QID : 77 - Who among the following has received Rajiv Gandhi Khel Ratna Award in August 2017?

frafafea 3 8 fores e 2017 F Iohta it et I qREeR UTe foham 872
Options:

1) Sardar Singh

R g

2) Khushbir Kaur

QR AR

3) S. V. Sunil

g, .

4) Varun Singh Bhati
T g Wrér

Correct Answer: Sardar Singh
R Rig



QID : 78 - The traditional festival of Losar 2017 was celebrated in which of the following state?

fffea 7 3 forg Iou & uRuRes Ia @R 2017 H4141 7137 A1?
Options:

1) Himachal Pradesh

fRarae wear

2) Rajasthan

SRYH

3) Uttar Pradesh

IR U

4) Bihar

fagr

Correct Answer: Himachal Pradesh

ferTaer e

QID : 79 - Which of the following countries have signed comprehensive anti-terror pact agreement in November 2017?

ffafEa 7 @ e 22 7 Fawr 2017 & = sidwars faRidh 9fY aresid R gwarer o &2
Options:

1) India and USA

Rd JUTZ,9.T.

2) India and Sri Lanka

R T fietent

3) India and China

IR a1 99

4) India and Russia

YRA 91 &

Correct Answer: India and Russia
HRA 991 &9

QID : 80 - The only country in the world whose flag is not a square or rectangle is

gy & yormma 31 forent U eawt 1 @t anfeRR & 9 & AT gl

Options:
1) SriLanka
sfietent

2) Bhutan
]

3) Maldives
AT

4) Nepal
Aurer

Correct Answer: Nepal

QID : 81 - In which of the following the Data Structures perform an important role?

FrfafEa 7 § forad Ster aeR Tah Aeaayut fent Frd 82
Options:

1) Input device

ks

2) Hardware

3) Program design

o fesmg

4) Logic gate

o e

Correct Answer: Program design

QID : 82 - What is the full form of 'MAN' in computer terminology?
PHIIER TeaTTe # 'THYY T Safed w9 w87

Options:

1) Margin Area Network

mifsia oRar Aeadh

2) Maximize Area Network

3) Metropolitan Area Network

Aiutferes gRan Aeah

4) Megabyte Area Network
TETge YRAT Aead

Correct Answer: Metropolitan Area Network



QID : 83 - Which of the following reaction is an example of exothermic reaction?

faffEa 7 @ ot @t srfoifora, Sreareld srfaforar o ge SereRor &2

Options:

1) Burning of natural gas

UThforen 1 o1 &g

2) Respiration

2499

3) The decomposition of vegetable matter into compost.
FIeIf geg T fage giene shule S|

4) All options are correct.

g} fqehed TEl El

Correct Answer: All options are correct.

g} fqehed TEl E1

QID : 84 - Which of the following solution is used in black and white photography?

FrafafEa & 8 oF o1 faerm am auT 4d BTl & T foRar ST 872
Options:

1) Silver chloride

AR FiRIES

2) Silver bromide

3) Silver iodide

AR smateEe

4) All options are correct.

g} fasrey Tl B

Correct Answer: No Correct Answer ( Benefit to all )

QID : 85 - Which of the following shows exception to the Octet rule?

fFrfafEa & @ et a1 erwes Faw & suare et exrfar g2

Options:
1) Carbon
Eace

2) Boron
EINE

3) Neon
it
4) Argon
B

Correct Answer: Boron

QID : 86 - Which of the following angles are equal in case of plane mirror?

I. Angle of incidence
1I. Angle of refraction
11l. Angle of reflection

FHae quur it R # FrferEa & @ @ @ aior smug & SRR g 82

. 3Ta ahioT
1. 3rgacf= shtor
111, GRTEd ahior
Options:

1) Only land Il
hadt | gl

2) Only land Ill
I qar i

3) Only lland Il
had [l qr il

4) All the given angles are equal.
R g gaft ST SRR 1

Correct Answer: Only | and IlI

hadt | g Il

QID : 87 - Which of the following is a heterogeneous mixture?

frafafed & & & a1 ge et fsmor 82



Options:
1) Solution
IEGDES

2) Suspension

3) Both Solution and Suspension
[EGEERUINEC

4) Neither Solution nor Suspension

1 8 faera= -1 &) faism

Correct Answer: Suspension

QID : 88 - Filament of electric bulbs are generally made of

faregd sreeit & dq amT=Ia: g &l
Options:
1) nichrome

2) tungsten
&
3) constantan

4) manganin
EUEic]

Correct Answer: tungsten
&

QID : 89 - Which of the following is Fleming's right hand rule?

frfafed & & o a1 wifdT a1 <favr-gw e 82

Options:
1) Induced current is directed in the direction of movement of conductor.
TTerch § URA eRT, TTeten i i i fe=m A gl 1
2) Magnetic field is directed in the direction of movement of conductor.
YR &1 TTeTh ehi 1T <Al e & giar &1
3) Magnetic field is directed in the direction of induced current.
i &, IR uRr Y feam & grar &1
4) Movement of conductor, magnetic field and induced current are perpendicular to each other.

Tk <hl 71T, arhrar & JUT ARA URT 309 # Fead gid 8|

Correct Answer: Movement of conductor, magnetic field and induced current are perpendicular to each other.
Tk <hl 11T, Yarhtar & JUT ARA URT 3TUY # Fead gid 8|

QID : 90 - What is the numerical value of temperature at which Fahrenheit and Celsius scales are equal?

AT T I8 UTSdich 94T & STg1 thikAglse 9T Afead g+l o aa  gid &2
Options:
1) 40°

2) - 40°

3) - 34°

4) - 140°

Correct Answer: — 40°

QID : 91 - Which disease is caused by deficiency of Vitamin B?

frerfa= B &t &l & i a1 AT e 82

Options:
1) Beri-Beri

2) Rickets

@ AT

3) Kwashiorkor
Rl

4) Scurvy
Thdt

Correct Answer: Beri-Beri

QID : 92 - During heavy exercise, we get cramps in the legs due to the accumulation of

HOR AT R GRI AR RI A & Tog & HROT U giat 81




Options:

1) carbon dioxide
I SIZ3HTFATES
2) lactic acid
dfeer ot

3) alcohol
Yehiea

4) water
STet

Correct Answer: lactic acid
3TFT

QID : 93 - With which of the following does Haemoglobin has maximum affinity?

frafaf@a & 4 forads ary giirenfam & sifereram sy gl 82

Options:
1) Oxygen
SferfreT

2) Carbon dioxide
HT SEAFAES
3) Carbon monoxide

HTeH A TRTES
4) Nitrogen

Correct Answer: Carbon monoxide

FHIE AHISTTASS

QID : 94 - Which of the following is NOT unicellular?

frfafed & @ & a1 -t g 87

Options:
1) Euglena

2) Amoeba
Srftam
3) Paramecium

4) Hydra
GESY

Correct Answer: Hydra
BESY

QID : 95 - Which of the following controls the amount of light entering the eye?

fFrafafEa & @ & 33 5 Ud<r A aret uehisn i A et RdfRa aar g?

Options:
1) Iris

2) Cornea
3) Aqueous humour

4) Crystalline lens

Correct Answer: Iris

QID : 96 - Which of the following disease is caused by bacteria?

frfafea & & & a1 3 Sftar] & SRoT i 82

Options:
1) Tuberculosis

2) Common-cold
@ref-gem

3) AIDS

TgE

4) Dengue fever

STIER

Correct Answer: Tuberculosis

QID : 97 - Excess of fluoride in drinking water causes

o & ST § TRAR1SS i 31feres AT T SHROT ST B




Options:

1) lung disease

thipel & AT

2) intestinal infection

3) mottling of teeth

gral o iR g

4) No option is cp%rrect.
I

Correct Answer: mottling of teeth
Teft et fRrfemR s

QID : 98 - Reduce, Reuse and are the three R's to save the environment.

e, Rgg qen TgiaRoT 38T & fAg A R €1

Options:
1) Rewise

2) Restore
Rk

3) Recycle
fansfere
4) Recall
Repter

Correct Answer: Recycle

QID : 99 - Fine solid particles or liquid droplets suspended in air are called

a1y & fAeifad B¢ B1e 319wt sierar ave &t &g ETIGIE]

Options:
1) Aerosol

2) Emulsion
FHRE

3) Foam
ok

4) Gel

ST

Correct Answer: Aerosol

QID : 100 - Which among the following ecosystem have inverted biomass pyramid?

frfafed 7 8 frg aiRfefadh @ @ Seer SR (sratme) fRifes ghar 87

Options:
1) Marine ecosystem
GE
2) Grassland ecosystem
GEl
3) Both marine and grassland ecosystems
ettt A aiRfEfad o gt
4) Neither marine nor grassland ecosystem
1 8 Sielta A1 8 A urkfefadr I
Correct Answer: Marine ecosystem
a3

QID : 101 - Air permeability method is used in which of the following test of cement?

e it f=faf@a § @ o= @ Sita § gar uremar faf @ suahr giar g2

Options:

1) Compressive strength test
SEEERIGR L

2) Fineness test

IpET UteTor

3) Soundness test

&1 Tteror

4) Slump test

HE Tteror

Correct Answer: Fineness test

IpET TteTor

QID : 102 - The main purpose of the soundness test of the cement is to determine the ___.

e & ggar uieToT Sl T e fAufiRa w81



Options:

1) change in volume of cement after setting
TG & 91G Wide HY 711 F deaa

2) strength

NS

3) fineness

IJepEdl
4) time taken to harden
FHER g | T T

Correct Answer: change in volume of cement after setting
TG o 9IS HiHie &t A1 F aeara

QID:103-
What is the target mean strength{N/mm? | of the M30
grade concrete, if the standard deviation is 5.07

ATE AT [dger=1 5.0 &, AT UA 30 915 Hah e i
e A Aafdd (Nimm?) &= §?

Options:
1) 21.75

2) 30
3) 38.25

4) 40.25

Correct Answer: 38.25

QID : 104 - Which of the following method is used to make the timber fire resistance?

RSl Bl T HfaRiy s & oy FR=fofea & @ o @ ugfar o Sui fosar S &2
Options:

1) Coating with tar paint.

TR & Ue & a1y Hif

2) Pumping creosote oil into timber at high pressure.

I &ITG TR Aiche! A Shafiie ol dof TR ehAT

3) Seasoning process.

4) Soaking it in ammonium sulphate.
Gethe H MwoT
Correct Answe%: Soaking it in ammonium sulphate.
Rl

QID : 105 - In which of the following process, plug mill is used?

fafafea 7 @ fove ufthar & wir Mt o1 Sugi forar Srar 82
Options:
1) Burning of bricks
fet ot qurT
2) Drying of bricks
£ o1 g
3) Moulding of clay
gt 1 s
4) Preparation of clay
&r

Correct Answer: No Correct Answer ( Benefit to all )

QID : 106 - According to the IS specifications, initial setting time of the ordinary Portland cement should be ___.

ars oy, fafaden & oraR, rerer niéde e s uRfYe T awg ___ g arfdul

Options:

1) 10 minutes
10 e

2) 30 minutes
30 fme

3) 6 hours

6 €

4) 10 hours
108

Correct Answer: 30 minutes
30 fAme



QID : 107 - Which of the following is the main reason to provide frog in the bricks?

fFafafEa 7 8 @i @ < A i UeH & &1 & SR 8?

Options:

1) Print manufacturer's name.

fafar e am filc

2) Form keyed joint between brick and mortar.
3) Improve thermal insulation

ST SR R

4) Reduce the weight of brick.

€z & ot I A Y

Correct Answer: Form keyed joint between brick and mortar.

QID : 108 - Which of the following is used as the vehicle in the enamel paints?

fFafofea § @ & a1 e de & arge & w0 § vl far sirar 82

Options:
1) Linseed oil
Bl

2) Mustard
Tt

3) Varnish
arfar

4) Water
Tt

Correct Answer: Linseed oil
Eakcl

QID: 109 -

If one cement bag has 0.035n* volume of cement, the number
of bags required for one tonne of cement is

afe v e dar & W &1 3ad=T 0.035m° 8, ol U oot HiFfT &
o smavas dar i FEar gl

Options:
1) 10

2) 12
3) 15
4) 20

Correct Answer: 20

QID : 110 - Which of the following is fused together to prepare the high alumina cement?

I SegfaT e IR & & g = 5 § i a1 o e e war 82

Options:

1) Bauxite and limestone

FIeRTSE 3R AT IR

2) Bauxite, limestone and gypsum
dTeRTge, TAT e 3R o

3) Limestone, gypsum and clay

AT R,

4) Limestone, bauxite, gypsum, clay and chalk
AT UeeR, Sfewse, S, g ofik ame
Correct Answer: Bauxite and limestone
FieTse 3R AT UeeR

QID : 111 - Accuracy in the measurement of the volume in cubic meter should be nearto ____.

T Hfiex § S1aa & A1 8 9diehdl ____ & Ui g1 A@1ieyl

Options:
1) 0.001
2) 0.01
3) 0.02
4) 0.1

Correct Answer: 0.001



QID : 112 - Deduction for total length of the central line at the corner where two walls meet is

I A HEIT @M Y e TS BT el STgi Al SaR Aerdi s, glaral
Options:

1) half of thickness of wall

AR &Y HieTs et ST

2) no deduction

3) thickness of wall
AR Y Hters

4) twice of the thickness of wall

Correct Answer: half of thickness of wall

§ar Y Hers e s

QID : 113 - Which of the following is estimated by using a bar bending schedule?

IR FehTa GROf AT TN ek 1 § Q R T SITAT T 7T 82

Options:
1) Brick work
$c & A
2) Concrete work
chehte o hTH T
3) Earthwork

& T HT
4) Steel work
3T & HTH hT
Correct Answer: Steel work
3T o HTH HT

QID : 114 - Which of the following is measured in square meter?

fFrafafEa & 9 &F ar ot ez & A7a7 STar &2

Options:
1) Cornice

2) Concrete work
hehic &l ahTH

3) Shuttering

grefar

4) Steel reinforcement bar
I

Correct Answer: Shuttering
e

QID : 115 - Which of the following statements are the CORRECT for estimation of plastering?

1) For opening up to 0.5 square meters, no deduction is made.

2) For opening exceeding 0.5 square meters and up to 3 square meters, deduction is made for one face.
3) For opening up to 3 square meters, deduction is made for both faces.

4) For ends of beams, no deduction is made.

= § @ o a1 Y= vetear & ST & forg wgt €2

1) 0.5 T Hiex I & Be o folg, IS heldl T8l I TS 81

2) 0.5 orf ez § 31fdeh ok 3 of ez aek & B¢ & oIy, e ura & forg weldt i St 1
3) 3 avf Htex qa & 8% & g, T uRat & forg ekt &t St 21
4) §i7 & 3id F g, g weldt T8 7S &1

Options:

1) Tand 4

13k 4

2) 1,2and 4

1,234

3) 1,3and4

1,33k 4

4) 3and 4

33k 4

Correct Answer: 1,2 and 4

1,234

QID : 116 - Chowkhat or frame of the door is measured in

WAt dge s BT Sargl



Options:

1) cubic meter
uq

2) meter

3) quintal
friea

4) square meter

Correct Answer: cubic meter
o7

QID : 117 - Calculate the preliminary estimate for a building having a total carpet area of 500 square meters. Extra provision as 10% of the carpet area is provided for
walls and verandah. The plinth area rate is Rs. 1,200 per square meter.

500 &Rt FYex T FoeT el &thel ATt e & TRIHh SITATH &Y TOHT e Foreeht SIfaReh UTaem & &4 8 10% el &5 SaRT R SR & forg var fomar T g ofR =TaR &thd
e 1,200 & ufd aif diex 21

Options:
1) 60000

2) 540000
3) 600000

4) 660000

Correct Answer: 660000

QID : 118 - Calculate the volume of earth work for an embankment of length L and width B. The mean depth of the embankment is D and side slope is S : 1.Using mid-
sectional area method.

Aeg-3r AT & fAfY 1 IugiT ohedh, stward L ok terd B & destey & forg STl & ot ol AT &Y TTurT ahe | dedier i s mewg D & sk arge e e S: 11

Options:
1)
BxDxL

2)
(B+B+sD)xDxL

3)
(B+B+sD)xDxL/2

4) _
(BD+ sDP)x L

Correct Answer:

(BD+ sDP)x L

QID : 119 - Calculate the quantity of the sand required for 8 cubic meter brick work with cement mortar (1 : 3).

e AteR (1: 3) & a1y 8 7 Hiex $e & Hm & o 3Taaeh STe] Y AT Y TOFT HR

Options:
1) 1.38

2) 15
3) 18
4) 24

Correct Answer: 1.8

QID : 120 - Calculate the capitalized value of a building having annual rent of Rs. 20,000 and highest rate of interest is 5%.

Ueh SHRA & Ustigpd Hed i TUMT & fSa# anfiien fmar 20,000 & 3R sarst &t S=ad &2 5% 81

Options:
1) 1000

2) 21000
3) 220000

4) 400000

Correct Answer: 400000



QID : 121 - Plumb bob lines at two different places in plane surveying are ___.

T TN H &l STHT-3HeNT SHTET UR 9Igd g+ ___ 81
Options:

1) cut at the center of the earth

S o e A Fedl §

2) inclined

T e

3) parallel to each other

Ueh GER & GAFIAR

4) perpendicular to each other

Ueh g¥R & g

Correct Answer: parallel to each other
Ueh GER & GHHIAR

QID : 122 - A curve whose radius varies from infinity to a certain value is called ____.

U sk [S1gepT Bear sq A g Rffa s F R fRa glar g 38 ___ sersmar gl
Options:
1) compound curve
SESEED
2) circular curve
RS Ieh
3) reverse curve
dsh
4) transition curve
TehHUT dsh
Correct Answer: transition curve
TehHUT dch

QID : 123 - What is the representative fraction for a scale of 10 cm = 20 km?

10 Tt = 20 fopft & ATUSHA & forg <=fe 9= = &2
Options:

1) 1Tcm=2km

1 gt = 2 foeft

2) 1cm=20,000m

1 9ft = 20,000 =

3) 1:2

4) 1:200,000

Correct Answer: 1:200,000

QID : 124 - The line which is used to collect the details of the objects in an area is called ___.

ek & B aegail & faaror genst et & forg IuiT Y S areft S@m ant __ ket STrar &1

Options:
1) base line
TR 3@T

2) check line
[EUEEGH

3) main line
& @

4) tie line
geh 3T

Correct Answer: tie line
Tqeh 3@T

QID:125-
Calculate true bearing of a line, if magnetic bearing
of the line is S 60° E and magnetic declination is 5°
eastward.

Teh YW@ o Tew! d1a1 bl A0TAT Y, A 1T & LeehTd
Fafar s 60° £ § 3R dedh ERiEe 5 gt gl



Options:
1

MN5&° E

2)

NB5E

3)

SH5°E

4)

S65°E
Correct Answer:
SH5°E

QID : 126 - Calculate the total correction (m) required, if a line measured using 20 m chain is 2380 m. Actual length of the chain is 20.2 m.

Pl ST R (Hier) Fl 70T &, 3R 20 Hiex FiofiR 1 IuTIT shed §Y Ueh @1 2380 Hier § 3R Fioiik Y arafaes sers 20.2 Hiex 81
Options:
1) 22.6
2) 23.56
3) 23.8

4) 476

Correct Answer: 23.56

QID : 127 - The least count of a theodolite is ___.

fratetese o1 steadHish gl

Options:
1) 1 degree
1 f&h

2) 2 minutes
2 e

3) 2 seconds
2 qhs

4) 20 seconds
20 ¥Hs

Correct Answer: 20 seconds

20 Yhs

QID : 128 - Calculate the corrected staff reading at point A, if the staff reading is taken from an instrument which is set at a distance of 1.5 km from the point A 3.46
m.

fiig A TR TN T UGB Y TUMT &Y, SR I U6 Yeh IUhs0T § fora ST & it fag A, 3.46 Hiex & 1.5 feheaiiier & off = FafRa g1

Options:
1) 3.28
2) 3.3

3) 3.43
4) 3.48

Correct Answer: 3.3

QID : 129 - Calculate the intersect angle (degree) for the anallactic telescope.

ST G eh GXe h folq hises apior (FReTf) <t o e

Options:
1) 0.467

2) 0.573
3) 0.592

4) 0.598

Correct Answer: 0.573


Nitin Saini
Rectangle


QID : 130 - Which of the following statements are CORRECT for contour map?

1) Parallel contour shows uniform slope.

2) Very closed contour shows steep slope.

3) Very closed contour shows flat area.

4) Two contours at different elevation cut at right angle.

7 & & o a1 S e & AR & fog wdt §?

1) TR THI=T Ueh A A Tl 8
2) gd ¥ T @S e @ 8l

3) 9gd §c GHId THad &7 e gl

4) STT-3THT TS UR &f GHId GHRIUT UR hed! &
Options:

1) 1,2and 4

1,2 3R 4

2) 1Tand2

182

3) 1,3and 4

1,33k 4

4) 2and 4

23R 4

Correct Answer: 1 and 2
18R 2

QID : 131 - What is the terminal velocity (m/s) for a 4 g particle which is falling in the water with projected area of 5 sq. cm? The coefficient of drag is given as 0.47.

4 77 &% ot & forg sifam 3 (Hex/dehe) o & St 5 aefefier & srganfaa &5 & arer urit § R <81 82 S a1 7otk 0.47 &1

Options:

1) 0.58

2) 5.2

3) 7.5

4) 10

Correct Answer: 0.58

QID : 132 - The coefficient of curvature for well graded soil lies between ____.

378t avg 9 afiopd g & fg aspar T qqorien ____ = 81
Options:

1) 1t02

192

2) 1t03
193

3) 1to5
185

4) 5t07
537

Correct Answer: 1to 3

133

QID : 133 - The coefficient of uniformity for well graded sand must be greater than ____.

37! IRg W afichd 3d & foIq THT &1 [oTieh ___ & S1fdeh giaT =gl

Options:
1) 4

2) 5
3) 6
4) 10

Correct Answer: 6

QID : 134 - Casagrande’s apparatus is used to determine ____.

HOIS Il ____ ot RefRa wa & forg v forar strar €1
Options:

1) liquid limit

e T

2) plastic limit

AT T

3) shear strength
SUEYh dlehd

4) shrinkage limit
e ¥



Correct Answer: liquid limit
el

QID : 135 - On increasing temperature, the viscosity of gas .

AT T WR, A & el garg
Options:
1) decreases

2) first increases and then rapidly decrease
gl 3¢ STl § SR R Jsft § wedt §

3) increases

4j not affected by temperature
A9 § gerfad

Correct Answer: increases

QID: 136 -

If the 90% volume of iceberg is immersed in the water and only
10% volume is above the water surface. What is the density of the
iceberg, the density of sea water is given as 1025 kg/m® ?

3R Tg#aler &1 90% FHAT Ul # 5 ST & 3R hael 10% AET
U T @A & IR | Gee &1 a6ca T g, g & are
& gelcd 1025 kg/m® £7

Options:

1)

900 kg/m?®
2)

922 5kg/m®
3)

950 kg/m?®
4)

1000 kg/n7
Correct Answer:
922 5 kg/m?®

QID : 137 - The head developed by the centrifugal pump is 40 m while operating at the speed of 750 rpm. If the rated capacity is given as 50 cumec, what is the
specific speed of centrifugal pump?

750 rpm ST T TR 1A el §Y TTchel T gRT faerfRa Sams 40 Hiex &1 SR Hedien fahar a7 e7aT 50 RA & w0 & § 11t 8, aF sraehe} urg it fafre wfy = 82

Options:
1) 150

2) 300
3) 333

4) 500

Correct Answer: 333

QID : 138 - Surface tension for an ideal fluid is .

U Mef cRA ugif & e qagaqma @1

Options:

1) depends on temperature
AU W R wear g

2) one

Th

3) infinite

Hd

4) zero
Nl
Correct Answer: zero

LA



QID : 139 - Which of the following is not true about density of the gases?

I A F I IR AT & 7

Options:
1) Proportional to pressure.
EEIck

2) Inversely proportional to temperature.
ATIAT & STHATIIT

3) Inversely proportional to volume.

A

4) Do not depend on temperature and pressure.
TG SR gara WR AR 78 e &

Correct Answer: Do not depend on temperature and pressure.
AT 3R e W R T8 axar g

QID : 140 - The stable equilibrium is achieved in the floating body when .

ERIgE RN g gargse___|

Options:

1) center of gravity is below the centerof buoyancy
T ohg; IcATdeh he; & 12 &

2) metacenter is above the center of gravity

e Tcarehor & dhe & FWR &

3) metacenter is below the center of gravity
AR 8

4) metacentric height is zero

A= ST Y 8

Correct Answer: metacenter is above the center of gravity
IIWRE

QID : 141 - What is the value of friction factor, if the diameter of pipe is 50 cm and roughness height is 0.25 cm?

U7 HReh T 7IF T &, A I1SU ol T8 50 St SfR Grawmoa $am8 0.25 St 82

Options:
1) 0.0003

2) 0.003
3) 0.01002

4) 0.03035

Correct Answer: 0.03035

QID : 142 - What is the head loss in pipe due to friction over the length of 30 km, if the diameter of pipe is 80 cm and velocity of flow is 30 cm/s? Take friction factor
0.032.

30 forrt Sams & TuT & HRUT UTSY B FATS ohT BT T 8, 3R UTSY ohT g 80 Jdfiex 3R vrang &t fay 30 Tt /3. &2 uefur shRek a1 A9 0.032 &1
Options:
1) 4.0m
4.0 iR

2) 4.5m
4.51x

3) 5.5m
5.5 "R

4) 10m
10 Hez

Correct Answer: 5.5 m
5.5 #ex

QID : 143 - The range of Froud number for the weak jump is.

TSR qg & g IS Fer &y wfam gl
Options:

1) 1.0t0 1.7

1.081.7

2) 1.7t02.5

17825

3) 25t04.5

25945

4) 45t09.0

4539.0

Correct Answer: 1.7 t0 2.5
17225



QID : 144 - What is the velocity (m/s) with which elementary wave can travel upstream, if the velocity of flow is 2 m/s and depth of flow in channel is 1 m?

g yarg & 1 2 #1./8. & ofk I | varg Y Tews 1 Hiex & & 3 (h./3.) o gkt orwds ary urafies dex Rt & ufdge A e wed 82
Options:

1) 1.132

2) 2

3) 3.132

4) 5132

Correct Answer: 1.132

QID : 145 - Which one is the best method of reclamation of the alkaline soil?

&g gt & guR & fog Ta9 SresT a¥iel & a1 82
Options:

1) Addition of gypsum to soil.

2 &t e e

2) Addition of gypsum to soil and leaching.
g & Sregw e sik Rerem

3) Leaching.

[REICE]

4) Providing good drainage system.

ITTST STt IehTet HUTTeft Ta et

Correct Answer: Addition of gypsum to soil and leaching.
CIERICE]

QID : 146 -

The intensity of the rainfall for successive 1 hours period

of a 6 hours storm are 2, 6, 8, 9, 7 and 3 cm/hr. The runoff is
4 cm/hr. Calculate the @—index (cm/hr).

BHC & WA I el 1 G¢ T 1dfd & foiw arfer & diger
2.6,8,9,7 3T 3T / der &1 3aH cgar 4 T/ e )
g—index (THT / HeT) H TOETHT

Options:
1) 2.5
2) 3.5
3) 46
4) 7.67

Correct Answer: No Correct Answer ( Benefit to all )

QID : 147 - The intermediate sight distance is equal to

AT g g FRER e

Options:

1) overtaking sight distance

faggeer fe o

2) stopping sight distance

FepTae e gt

3) twice of stopping sight distance

wprae fe gft bt <t

4) twice of stopping sight distance

Feprae gfe gdt <t T

Correct Answer: No Correct Answer ( Benefit to all )

QID : 148 - Calculate the equivalent radius of the resisting section of 20 cm thick slab, if the ratio of the radius of wheel load distribution to the thickness of the slab is
0.5.

W FY Aierd ok ufgar ¥R faaror & fBean e erqurd 0.5 8, af 20 It 7 e & Aty aret @< & aRTeR A &t o R

Options:
18

2) 10.16
3) 20
4) 23.66

Correct Answer: 10.16


Nitin Saini
Rectangle


QID : 149 - Which of the following is responsible for the corrosion of concrete sewers?

FfafEa # 8 @i @ dhihic ATer & HemRoT & fog Sieier 87
Options:

1) Chlorine

FARIA

2) Oxygen

SiferfreT

3) Nitrogen

4) Septic conditions

Correct Answer: Septic conditions

QID : 150 - Which of the following is responsible for the depletion of ozone layer in the upper atmosphere?

SR AR H Sl IR Y &1 o forg e d & i Seer 7

Options:

1) Carbon dioxide
COCERERICEIES

2) Chlorofluorocarbons

3) Hydrogen peroxide
BIES I WRITES

4) Oxides of nitrogen
& Sifearss

Correct Answer: Chlorofluorocarbons

QID : 151 - Live loads, with time can vary in:-

Ty & 91y AL YR = | 199 8 gend 8-

Options:
1) Magnitude
gReTor

2) Position
fy

3) Neither position nor magnitude

7 &) fafy ofk 7 & uRmmor

4) Position as well as magnitude
SR g1y g Ty

Correct Answer: Position as well as magnitude

S ik vy &t Trer gRkemor

QID : 152 - Impact load results from which type of effects of loads applied?

AL R g 1R & e TR & weTat & UROTARIEY HoTd TR 344 81 87

Options:
1) Static
wifaew

2) Dynamic
it

3) Static and dynamic
fasfie

4) Neither static nor dynamic

7 af Widw ok 7 gt nfasfe

Correct Answer: Dynamic
e

QID : 153 - Which type of drainage system will collect the rainwater?

forT UehR &Y STt FRenTeft g aut o1 arHt genfd @eft?

Options:

1) Primary
e

2) Secondary
FRIBED

3) Tertiary
4) Primary and tertiary
i ok gt

Correct Answer: Primary
mafAs



QID : 154 - Moment at a hinge will be:-
sl TR ATl -

Options:

1) Infinity

3

2) Zero

T

3) Depends upon acting forces
T T 7@ I W AR wear g

4) None of these

Correct Answer: Zero

N

QID : 155 - For the validity of principle of superposition, materials should behave in which manner?

RIYT & RAgia Y duar & oy, arnft ol fhg TR @ SagR AT a1fgy?

Options:
1) linear-elastic
-T T
2) non-linear-elastic
TRy
3) Non-linear- inelastic
R-IE-may
4) Linear- inelastic
Ap-arvraTRe
Correct Answer: linear-elastic
-y

QID : 156 - If 4 reactions are acting on a beam, then the system is:-

3R o7 W 4 ufafehar arf = @t 8, @t e &:-

Options:
1) Unstable & indeterminate

SRR 3R
2) Stable & indeterminate
Rl ofR saffia

3) Stable & determinate
wrft ofk aRfia

4) Can't say

e T el

Correct Answer: Can't say

&g 8 Gend

QID : 157 - Which of the following statements is true?
A. If a truss consists of a non-triangular element, then it will essentially be unstable.
B. In the above cases, instability is the most probable occurrence, but there are a lot of examples which are unstable.

ffafEa § @ o 91 Y= 98t 82

A. 3R g8 # R-Denivfia aa €, ot g8 smaxges T T Ry ghmi

B. Ik fefoat &, Siferar Teg denfaa ge &, fch agd & emes U9 Iarexvn & it st &1
Options:

1) Only A

haet A

2) OnlyB

%hael B

3) Both Aand B

A 3R B

4) None of these

B EEEIEE]

Correct Answer: Only B
B

QID : 158 - Which of the following statements is true?
A. Aroller is provided at end of a bridge truss to allow thermal expansion.
B. A roller provides freedom of deformation in horizontal plane in case of thermal expansion.

fefafea & @ o a1 sye ggt 82
A. 3o R A & & forg, ot e & oid A JeR wer foran smar &1
B. S&HIT faedR & wret 7 &ifast a1 § Aer faepfar it adisrar war sear 81



Options:
1) Only A
Fhad A

2) Only B
%haet B

3) BothAandB
A 3R B gt

4) None of these

TH § 1S el

Correct Answer: Both A and B
A SR BEHT

QID : 159 - Trusses and frames are different as:-

=9 3R thH fhg UehR {9 g &-

Options:

1) Trusses can benq, frames can't
T q¢ Hehd 8, ThH Tl

2) Both can bend

&l 7S Tend &

3) None of them can bend

1 § &1 oft 71 g5 Tear

4) Trusses can't but frame can

g 81 Afh 7 gE Uohd

Correct Answer: Trusses can't but frame can

g 781 Afth T ge TR

QID : 160 - Given that J is no. of joints. B and R are no. of members and no. of reactions.
If B=5,R=4andJ = 4, then the truss is:-

o man & o6 J STt Y g &1 B ok R sraal ofk ufaftharst f den g1 sk B=5R=43R J=48 datcad-

Options:
1) Statically determinate
0

2) Statically indeterminate
g

3) Stable
Rl

4) Unstable
St

Correct Answer: Statically indeterminate
s wud

QID : 161 - What is the ideal water-cement ratio to be used while hand mixing?
81U g1 FAfAT ohed T IuaT foh ST atett airasf STar-iie SruTd R 872
Options:

1) 0.4-0.5

2) 0.5-0.6

3) 0.6-1

4) 1.6-2

Correct Answer: 0.5-0.6

QID : 162 - As water cement ratio increases, also increases.

S ddc U A gfgeR w, _ Ffgigede
Options:

1) Compressive strength

gufteT g

2) Tensile strength

-

3) Bleeding

HquT

4) Workability

Correct Answer: Workability

QID : 163 - Ready mix plant and central mix plant differ in:
TR o S5 SR Shag o Ao fohad 9= gid &



Options:
1) Transportation

2) Setting time
< gH @ aHg
3) Properties

o
4) Water addition
T ST

Correct Answer: Transportation

QID : 164 - Compacting of concrete is done to:

chehle &t aaT farg forg &Y STt &

Options:

1) Place concrete on flat surface
THAAA g WR chehle St o folg

2) Remove air bubbles

4T & FAge fehTer & forg

3) Place concrete on sloping surface
AT aTelt O IR & &

4) Introduce air bubbles

4T & T A et o forg

Correct Answer: Remove air bubbles

4T & Tt fiehTer o forg

QID : 165 - Which of the following statements is true?
A. A gap of 0.3m is to be maintained between cement bag and wall, while storing cement.
B. A gap 100 cm is to be maintained between cement bag and wall, while storing cement.

T s aTFm g 8?

A. Hi¥e &1 9USR e T, HiAe Y TR 3R SR & e .3 Hiex Sl g s @ a@nfeyl
B. e 1 WUSR xR T, Hife &t aR iR SR & e 100 St & o et et gl
Options:

1) Only A

thad A

2) OnlyB
%ad B

3) BothAand B
A SR B &l

4) None of these

Correct Answer: Only A
Fae A

QID : 166 - Which of the following statements is true?
A. Impermeability is a property of fresh concrete.

B. Impermeability is a not property of fresh concrete.
C. Impermeability is nothing to with concrete at all.

feafad s aram g g?

A. STURITRIET dTSt Shehl BT 0T &1

B. STURITRIT dTst dhehic AT 70T &1 81

C. Thehlc & T SUYRITRIT T g off Tt gl 81
Options:

1) Only A

hae A

2) Only B

%had B

3) OnlyC

Fad C
4) None of these
3 4

Correct Answer: Only B

%had B

QID : 167 - M15 concrete is used for:

M15 dhehie o1 IuaT fop forg fomar Siram &:



Options:

1) Dams

iy

2) Foundation

3) RC.C
SR

4) Mass concreting works

T chehie i & forg

Correct Answer: Foundation

QID : 168 - Tensile strength of concrete is found out using:

fFafofea & S frge Iuahn o dhshie o1 a9+ T ure foraT ST g &:
Options:
1) CTM

2) Gradual tensile test
T udteor

3) Split tensile test

[ECINCEERR ]

4) Radial tensile test
GEERCHL

Correct Answer: Split tensile test

oo awm wteror

QID : 169 - A slump of 50-100mm can be used for:

o F 9 fohadh farg 50-100 Hift 1 srauTd IugT foRaT ST Tehdr &:

Options:

1) Mass concreting
A

2) Strip footing

e pfem

3) Trenchfill
TGl A=A
4) Beams

Correct Answer: Beams

QID : 170 - Before plastering, the surface has to be:

R i Q UG, gAg &bl _____ giHT 9IRu:
Options:

1) Rough

gl

2) Smooth

Ry

3) Cemented

4) Watered
STeTg<h

Correct Answer: Rough

Sl

QID : 171 - Wood surface requires _______ coats of plastering.

ARl Y Tag h WX h ____ hicd Y ATaaehdT gl 21
Options:

4) None of these
g

Correct Answer: None of these

T & IS T



QID : 172 - For the construction of the retaining structures, the type of concrete mix to be used is

A.1:3:6
B.1:2:4
C.1:1.5:3
D. 1:1:2

IR, YIS & FAHT0T & iy, IuTT fhT ST aret chehie fA8ToT ol TR &

Options:
1) Only A
Fhae A

2) Only B
%ad B
3) OnlyC
hael C

4) Only D
&ae D

Correct Answer: Only C
c

QID : 173 - For preparing ordinary concrete, what is the quantity of water used?

Options:

1) 5% by weight of aggregates plus 20% of weight of cement
G & goi ol 5% 3R HHe & as &l 20%

2) 10% by weight of aggregates plus 10% of weight of cement
ST & goi T 10% SR Tidie & aoi & 10%

3) 5% by weight of aggregates plus 30% of weight of cement
G o goi e 5% 3R HHe & as &1 30%

4) 30% by weight of aggregates plus 10% of weight of cement
S & goi T 30% SR TiHie & aoi T 10%

Correct Answer: 5% by weight of aggregates plus 30% of weight of cement
S & goi T 5% 3R e & as &1 30%

QID : 174 - If the various concrete ingredients i.e. cement, sand, aggregates are in the ratio of 1:3:6, the grade of concrete is

af dste Y Rt amfit S R wide, a1, 991 1:3:6 % oqua d & At afie F s &
Options:

1) M100

2) M150

3) M200

4) M300

Correct Answer: M100

QID : 175 - For which of the following is an ideal warehouse is provided?

Frafafea § 8 fonees fag smest Wer g vem forar s 82

Options:

1) water proof masonry walls

St eft forTE & R aredt Sam

2) water proof roof

e Aeft B

3) few windows which remain generally closed
o Rgfhal sit amd: ¥ Bt &

4) All of these

T g ot

Correct Answer: All of these

=79 @ goft

QID : 176 - If the internal dimensions of a ware house are 15 m x 5.6 m and the maximum height of piles is 2.70 m, then what is the maximum number of bags to be
stored in two piles?

3R HSR g & NTdRer ST 15 i x 5.6 Ht & 3R & A stfdemad Ham$ 2.70 #1 8, 7t & R # rfeman frat SifRar Gugia Y ST aehd! 82

Options:
1) 1500
2) 2000
3) 2200
4) 3000

Correct Answer: 3000



QID : 177 - Which of the following statements is true?

frfafed & & & a1 e 98 87

Options:
1) The weight of ingredients of concrete mix, is taken in kilograms
chehte & fRgror & forg off ST arel) gl @t aor foheume A glar &
2) Water and aggregates are measured in liters
3R YT il effex & AT 11T &

3) The finished concrete is measured in cubic meters
AR hehle &l g Hex & AT W1 §

4) All of these
T g ot

Correct Answer: The finished concrete is measured in cubic meters

AR hehie &t e Hiex F AT ST @

QID : 178 - For concreting tunnel linings, transportation of concrete is done by which of the following?

Shghie <l T[ORT T TR o foTg, dshie 1 aikags ot & & forach g fowam Smar 82

Options:
1) pans
el

2) wheel borrows
T IRt

3) containers

4) pumps
oq

Correct Answer: pumps
gqq

QID:179-_______isused to construct very thin, hard and strong surface

__ 1 I94NT 9gd Sife Udet, 319 SR Feigd dag o fAmfor s o forg fomar Sirem @

Options:
1) Reinforced Cement Concrete
gge e dehie

2) Post-Stressed Concrete
U hehle

3)_Ferro-Cement

Th)-diHe

4) None of these

T 1S el

Correct Answer: Ferro-Cement

IR-fie

QID : 180 - How many methods of ferro cementing are there?
R AT et fenat fafdrat 82

Options:

1) 3

2) 2

3) 4

4) 6

Correct Answer: No Correct Answer ( Benefit to all )

QID : 181 - The effective width of a column strip of a flat slab that is taken into consideration?

THIE thefeh chl T UEY bt qTelt et o W e far Sirar 82

Options:
1) one-fourth the width of the panel
e chl ST ol Ut
2) half the width of the panel
TS T e
3) radius of the column
w9 i
4) diameter of the column
Y Rl AT
Correct Answer: No Correct Answer ( Benefit to all )



QID:182-
If W is the uniformly distributed load on a circular

slab of radius R fixed at its ends, the maximum
positive radial moment at its center is

IR a1 RF TR Fors ows e faw #
I W THAAE & ¥ faafa smw wi, ar 39
&g # ftreras Meaw amt 7
s
2]2":;:
3=

Options:
1) [1] Only
haet [1]
2) [2] Only
e [2]
3) [3] Only
haet [3]
4) Zero
S

Correct Answer: No Correct Answer ( Benefit to all )

QID : 183 - For initial estimate for a beam design, the width is assumed

Options:
1) 1/15™ of the span
qre i 1/15

2) 1/20% of the span
qre &1 1/20

3) 1/25M of the span
qre &1 1/25

4) 1/30% of the span
qre &1 1/30

Correct Answer: 1/30t" of the span
qre &1 1/30

QID : 184 - The thickness of the topping of a ribbed slab, varies between

YRIER theteh & M &Y Aiers, sgeh S gt g
Options:

1) 3cmto5cm

3qf @ 5aH

2) 5cmto8cm

53 9 8 9+t

3) 8cmto10cm

s & & 10 &f

4) 12cmto 15cm

12 9+t § 15 9+

Correct Answer: 5cm to 8 cm

53t & 8 aht

QID : 185 - For a ribbed slab

YRIER heldh & forg

Options:

1) clear spacing between ribs shall not be greater than 4.5 cm

oTRAT & o a1 faggg Reh T 4.5 St § s1fdres =81 g =1feg

2) width of the rib shall not be less than 7.5 cm

ot Y ers 7.5 St @ v A g anfey

3) overall depth of the slab shall not exceed four times the breadth of the rib
TheTch hl TFIT T8RS TR el IS8 chl IR T & S1fes 18! g1 a1y

4) All option are correct

g} fAreg Tl &



Correct Answer: All option are correct

gt Qe Tl &

QID : 186 - Which of the following statements is true?

frfafed & & & a1 e 98 87

Options:

1) On an absolutely rigid foundation base the pressure will be more at the edges of the foundation
quf &0 & g¢ fig & emuR W g fia & PRI W

2) On an absolutely rigid foundation base the pressure will be uniform

quf &U & 3¢ Fia & YR W I« THTAM ghm

3) On an absolutely rigid foundation base the pressure will not be uniform

quf ®u @ gg fia & SR W g1a ThgH T8l

4) On an absolutely rigid foundation base the pressure will be zero at the center of the foundation
quf & & g¢ e & SR W e & e A a1 g g

Correct Answer: On an absolutely rigid foundation base the pressure will not be uniform

quf U & g¢ i & YR W I THaHH gl g

QID : 187 - According to I.S.: 456, 1978 the thickness of reinforced concrete footing on piles at its edges is kept less than

1.S.: 456, 1978 & IR W & YR F fhARI TR Yg& chshie i HIeTs U9 HA I@T ST §

Options:
1) 20cm
20 I+t

2) 30cm
30 o+

3) 40cm
40 St
4) 50 cm
50 It

Correct Answer: No Correct Answer ( Benefit to all )

QID : 188 - If the diameter of longitudinal bars of a square column is 16 mm, the diameter of lateral ties should not be less than

SR qUITRR N o @ B! ol & 16 HiHl g, df Ut e o1 e 569 A 81 o1 91y

Options:
1) 4mm
4 Tt

2) 5mm
5 faeft

3) 6 mm
6 faft

4) 8mm

8 famft

Correct Answer: 6 mm
6 faft

QID : 189 - Maximum strain theory for the failure of a material at the elastic limit is known as

T T R ATt Y fatheran & forg sifderan fiepfa Rigia ot ag «ft svgr simar @

Options:

1) Guest's or Trecas’ theory
e a1 g g

2) St.Venant's theory

3) Rankine's theory

iR a1 Rigla

4) Haig's theory

& o gl

Correct Answer: No Correct Answer ( Benefit to all )

QID : 190 - Gradually applied static loads do not change with time their

fR-efR & 71 fohy g Wi YR TF & 1Y SruAT - el I §

Options:
1) magnitude

2) direction

feam

3) point of application
srgurat a1 fag

4) All options are correct

gt e afg &

Correct Answer: All options are correct

gt Qe afg &



QID : 191 - The thickness of slabs and beams must be measured to the nearest:-

T 3R & 6 Hierd @ & fReheq & 9TaT ST =118T |

Options:
1) 0.001 m
0.001 e
2) 0.005m
0.005 e
3) 0.01m
0.01

4) 0.05m
0.05 e

Correct Answer: 0.005 m
0.005 e

QID : 192 - A composite beam is composed of two equal strips one of brass and other of steel. If the temperature is raised

e affaa fin <t srrer it @ s+t & O S go i Y & iR oot 35ora Y &1 SR dTow B g i St 8,
Options:
1) steel experiences tensile force
FEUTT T I ST AT BT
2) brass experiences compressive force
i TRl I T ST AT
3) composite beam gets subjected to a couple
qfeysror i it giea foar STraT &
4) All of these
T S asht
Correct Answer: All of these
F S aoft

QID : 193 - A linear force-deformation relation is obtained in materials

e ga-fagpfa deer 371 arft F v foman Srar &
Options:
1) having elastic stress- strain property
T UfIeeT- ST 0T 707 81 &
2) having plastic stress- strain property
-STUEYUT 7707
3) which are rigid elast ic materials
St g a1 uerd g &
4) None of these
& 1S 7ot

Correct Answer: having elastic stress- strain property

T TSel-S T T 707 81 &

QID : 194 - In a structure, why are the cables and wires are generally used?

TREAT ¥, SR TR chael 3R IRY a1 IuahT o)t fomar e 2

Options:

1) To resist shear stress

IMUEUT ufdee ohl SR e & forg

2) As compression member

gufte orggd & U H

3) As flexural member
3T & FH

4) None of these

T ¥ A T

Correct Answer: None of these

QID : 195 - The ability of a material to absorb energy till the elastic limit is known as

T T ek uere gRT So1l AR ot &/dT ahl 39 w9 & off ST ST &
Options:
1) Ductility
aadr
2) Malleability
SmaTaae-aar
3) Elasticity
UATRIAT
4) None of these
e 4

Correct Answer: None of these

T @ g T



QID : 196 - If a material has identical properties in all directions, It is said to be

gfe veref & goft oT A €, At 59 et ST @

Options:
1) homogeneous

2) elastic
T

3) isotropic
4) None of these
g

Correct Answer: isotropic

QID : 197 - If all the dimensions of a prismatic bar are double, then the maximum stress produced in it under its weight will

R firerta g & gt smam SR &, at SR awie & Jgd I g arel sifdehan ufdee
Options:

1) decrease

A Y ST

2) increase to two times

&1 AT g g

3) increase to three times

BlERIGIECAS I

4) None of these

T ¥ Y T

Correct Answer: increase to two times
&l AT 5 g

QID : 198 - The ratio of the length of the column to the minimum radius of gyration of the cross sectional area of the column is known as

T Y TS 3fR TWieT & gy uReee &5thel o guie Y gAaH BT T SiguTd i 59 €9 off S S &
Options:

1) slenderness ratio

&ffoTaT SrguTa

2) buckling ratio

3Tey Ut

3) crippling ratio

STRTR AT

4) compressive ratio
Correct Answer: slenderness ratio

efforar srguTa

QID : 199 - In a built-up section carrying tensile force, the flanges of two channels are turned outward

T 9 aret (AT ST #, S At & FRRRI Y STeR Y STR o ST &

Options:
1) to simplify the transverse connections
Eack

STIIRY FaR A

2) to minimize lacing

SATeft o et & forg

3) to have greater lateral rigidity
& fag

3R uTef ggar
4) All option are correct

g} freT Tl &

Correct Answer: to have greater lateral rigidity

aiferes e gaat & g

QID : 200 - A tension member, if subjected to possible reversal of stress due to wind, the slenderness ratio of the member should not exceed

TG 37, SR BT & hROT d1d oh YT ZeshoT & S1fe B, it Sraad ot eftorar SruTd 399t Sifdeh 8l g a1fgy

Options:
1) 180

2) 200
3) 250

4) 350

Correct Answer: 350





